Equalities (E)

1+e=6+1

O+5=5+4+7

%+3=3+8

8+4=4+5

8+0=90+6

44+8=7+0

5+40=3+3

6+8=0+6

8+6=9+~

74+40=0+5

Find the value of each unknown.

x+0=5+4

9+aa=6+7

A+9=8+7

¢+5=7+3

24+7=94+ %

44+6=4+0

@+0=0+0

9+3=9+n

0+1=X+0

9+V=7+38
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Equalities (E) Answers

1+e=6+1
=6
O+5=5+4+7
o=7
%x+3=3+8
% = 8
8+4=4+5
a=1
8+0=0+6
0=2
4+8=7+0
N=5
5+40=3+3
Oo=1
6+8=0+6
N=8
8+6=9+
=5
74+40=0+5
=

Find the value of each unknown.

¥+0=5+4
% =9
9+na=6+7
ao=4
A+9=8+7
A=6
¢+5=7+3
=5
24+7=94+ %
X =
44+6=4+0
O0=6
@+0=0+0
@®@=0
9+43=94+~
o\ =
0+1=X+4+0
X=1
94+4V=7+8
V=6
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